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<ETH : 2022%F4H158>

R=2F 1) =Lz il
R=AXvHB—=IF 1) 100mL 2,530 2,750
L AL 100mL 2,200 2,420
200mL 2,970 3,190
100mL 2,640 2,860
T—EVRAAIN - F—HZv Y
200mL 3,740 4,070
50mL 3,190 3,410
RENAAI - F—HZw D
100mL 4,950 5,170
TIVHYFAI 50mL 5610 5,830
TFLYRIvEYSvILATIL B i il
=X VANT VR 5mL 2,750 2,970
Ir>— 5mL 2,750 2,970
7743 L 5mL 2,750 2,970
h—3I>7 5mL 2,750 2,970
IUTI7Ly¥a 5mL 2,750 2,970
FTANYAL 5mL 2,750 2,970
N=NRILT7Ly>ar— 5mL 2,750 2,970
74—HR 5mL 2,750 2,970
ATFT4T—23> 5mL 2,750 2,970
S0t —>ay 5mL 2,750 2,970
LISV R IR i i
T7OX/NILR 9=V ZANFTV R 9mL 1,980 2,090
7OY/NILR R T« 9mL 1,980 2,090
7OT/NILR RFRIL 9mL 1,980 2,090
7OYNIVZ FA4 MY A L omL 1,980 2,090
70O%/NILR INT— omL 1,980 2,090
TONNILRA AT 4 T—23> omL 1,980 2,090
TOXYNILR VS0E—23> omL 1,980 2,090
Jy RFA M EO-IRX b 45mL 3,080 3,190
ME =Lz il
7OYFv—L (NYR) 880 990
tZ3Ivo 7OVARMNL 1,100 1,210
RTARY Y =T 2,640 2,860
Ea—7+s0—7— 3,080 3,300
YRy —oO—-5— 3,960 4,180
AT7Z7Y (K) 3,960 4,180
ANTTZ2 (1) 2,420 2,640
F—HZvodAy b bh=btN\vJ 1,980 2,090
Ay > (6 0AY) 550 594

IvtrovldqIL (=] Frimg
5mL 1,760 1,870
1545y - FA—HZvY
10mL 3,410 3,520
5mL 1,430 1,540
FLoY - A—H=ZvY
10mL 2,310 2,420
HEZI-)LO-T 5mL 4,510 4,620
9o)8—Y - A—HZvs 5mL 5,060 5,170
\ 5mL 1,540 1,650
TJL—=TIIV=Y - F—=H=Zvs
10mL 2,530 2,640
5mL 3,190 3,300
YA TLR - FA—H=ZvY
10mL 3,960 4,070
SH =Dy R-F—=—HZvy 10mL 2,090 2,200
> hNOXZ - F—HZwvs 10mL 2,310 2,420
SFEY - A—HZvY 10mL 3,300 3,410
SwRI-FTIYVa—hk 2.5mL 7,260 7,480
A=) — 5mL 2,530 2,640
oS — - F—=HZwY 10mL 5,390 5,500
5mL 2,750 2,860
TIZOL - F—HZvD
10mL 3,740 3,960
5mL 1,650 1,760
FTa4—KN)— - F—=HZvs
10mL 3,080 3,190
ZT79) - A—=HZvY 10mL 3,410 3,520
x0l) 2.5mL 8,360 8,470
N> - F—HZvY 10mL 2,860 2,970
NFa)—-F—HZvy 10mL 2,530 2,640
VAV 4 m Ehy R s iRy 10mL 3,410 3,520
TR F—=HZvo 10mL 3,300 3,410
TFILAY - F—HZwv 10mL 2,530 2,640
To2vORyN— - F—HZwvy 10mL 5,060 5,170
770F 01U 5mL 5,280 5,390
RNFN—-F—HZwD 10mL 4,840 4,950
5mL 1,430 1,540
RIN—Z2 bk
10mL 2,420 2,530
5mL 2,310 2,420
RIWVHAEY N -F—HZws
10mL 3,740 3,850
5mL 2,860 2,970
I—J3aSLRA—bN - F—=H=Zvs
10mL 4,510 4,620
S AN 10mL 2,530 2,640
IS 10mL 4,510 4,620
AAFv> - A—HZvs 10mL 2,860 2,970
Ayt - F—HZws 2.5mL 13,530 13,750
A—HVTHR - ST4T7—4% - A—H=Zvs 10mL 2,750 2,860
5mL 1,210 1,320
dA—HAVTHR - F—HZw?
10mL 1,980 2,090
SA L - F—H=Zwvs 10mL 2,750 2,860
SNV - F—HZwy 10mL 2,310 2,420
\ 5mL 1,430 1,540
SRV —
10mL 2,530 2,640
SRV — - F—HZwy 10mL 3,410 3,520
5mL 1,320 1,430
LEY - A—H=Zvo
10mL 2,310 2,420
5mL 1,760 1,870
LEVIZR-FA—H=ZvY
10mL 2,530 2,640
LE>I—HY - A—H=Zvo 10mL 2,090 2,200
O—X-77vYYa—b 2.5mL 6,710 6,820
O—X-Fdvhk— 2.5mL 15,730 15,950
5mL 1,980 2,090
O—XIV—--F—HZwv¥
10mL 2,750 2,860
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&S E
& DL (=Lt A%
FLYPTST7—Ir—5— 200mL 3,850 3,960
Nvwo—49 o4—45— 200mL 3,850 3,960
773o0F o8R0 — 200mL 3,850 3,960
TS50F VAN RLATAVT T4 vILE RN [45mL 3,960 4,070
ROA T 7242 %ILIT R M 45mL 3,960 4,070
O—XJ#+—4— 200mL 3,850 3,960
TI20F 2R AVT VAV )—14 159 4,180 4,290
15¢g 4,180 4,290
710 RO—A Ea—FT1r—/\—LA
50g 9,460 9,570
T4 RO—A Ea—FT1E74A 30mL 8,800 9,020
N RERT 15T (=Lt A%
TOXRTAv I IvY—oF14) 100mL 2,750 2,970
SRS ANYY—=TFACI 100mL 2,750 2,970
STV —&TaZN—=IF—IVTFA) 100mL 3,520 3,740
A= T Xy —=IF 1) 100mL 3,520 3,740
CI3ZVL&ALYY Iy T—SF AN 100mL 3,520 3,740
SINIyv N N=—ZVTF1N 100mL 4,180 4,290
D4 RO—X R4 RT1F1)L 100mL 4,840 4,950
dA—AVN—LA 10g 1,760 1,870
TA—TEBARF 2T N—LA 10g 1,760 1,870
10g 1,760 1,870
aly=)u—7 )7
45¢g 3,850 3,960
TF—=I2T FILT 459 3,850 3,960
D7LbyvakRT«O0—>3> 200mL 3,630 3,740
TOYTA v RFr«O0—>3> 200mL 4,290 4,400
GRVH—=&T4—N)—=RT4INDHF— 100g 2,640 2,750
LEKIAVT A —THARTL— 100mL 2,970 3,080
IRV —=TOINRT TFHRATL— 100mL 2,970 3,080
H=—TFTOIVMRNILAEYRMN NV R Ay 200mL 2,860 2,970
ShRSIANYERTFYZ 2 200mL 2,860 2,970
E=Z7U—=NVRIU—=L 50mL 3,080 3,300
RE=N\D 45— 100g 2,640 2,750
NZA&Y v — IR A%
YIZOLALYDY—T 1009 1,815 1,870
IRV —=&T4—KN)=VY =7 1009 1,815 1,870
24 RO—-XYV—7 1009 1,815 1,870
UI7Ly>aRhTa94v>a 200mL 1,980 2,090
TOXTAvI v T—T1)l 200mL 2,530 2,640
EIZOL&AF LYY v T—T 1l 200mL 2,420 2,640
D4 RO—XRTF1R)va 150mL 3,850 3,960
T4 KO- v T—F1) 200mL 4,180 4,290
A543 av7BEFTIN -ty b ()it rimis
1HhBERtEy N—BRTIVT17T72R 15,228 15,444
TOYRI—9—Fv b (GRYF—-&O-XT)—) 4,070 4,290
TOYRY—=F—Fv bk (Ta—K)=&FL V) 3,740 3,960
O—-IWA>T7LI522F T8 (US0€—23>+1NT-) 4,070 4,290
Mia70OYT 4 71— —+V—<I > ANFUR 8,800 9,020
Mia70OY 7«4 71— —+)Z0t—>3> 8,800 9,020
Mia70OX 74 72— —+F1 91 L 8,800 9,020
Mia7O<YF«4 7 a—tF—+N—/NILT7L v ar— 8,800 9,020
Mia7OX 7«47 21— —+IF>— 8,800 9,020
Mia7OX T4 72—V —+AT71s7—>3> 8,800 9,020
7OY/NILR> 7ty b 12,430 13,090
NXARL—RAty N<D)Z0tE—>3>> 3,132 3,240
Exa—Fqs2I)lIy bty b 5,800 6,380

N—TT« (1703 A
Lo RN=TF1 A4 F=0L>>0T 128A4 1,512 1,674
TLYRN=T 714 9=V XTTILRR 128 A4 1512 1,674
LY RN=TF 1 Jy RR)=7 128AY 1,512 1,674
JLYRN=TF ¢ O=JLRI=ZX 12aAY 1,512 1,674
TLYRN=TF4 oo v—04+—3I27 128aAY 1,512 1,674
TLYRN=TF 4 A= VTN 128aAY 1,512 1,674
JLRN=TF1 Ea—FT147ILAF> 128A4 1,512 1,674
LY RN=TF 4 K74 NE2—FT 1 128AY 1,512 1,674
LY RN=TF 1 IHF—X 128aAY 1,512 1,674
JLYRN=TF71 )S0t—>3> 128AW 1,512 1,674
F—HZw o 7147714 T« 309 972 1,080
F—HZwo I*xF€77+« 30g 972 1,080
F—HZw I INI—=75T7—FT« 309 972 1,080
F—HZwo VIUN=-X7«1 30g 864 972
F—HZw I v —<NVHAEI-IT7 30g 972 1,080
F—HZw o oo v—INI59—FT«1 259 756 864
F—HZwo -7+« 30g 864 972
F—HZvo N3V XT—bT7 30g 864 972
F—HZvo XMNLT« 30g 972 1,080
F—HZVvI NMERDAT 1 30g 864 972
F—HZw I RN—=ZV M7 g 30g 864 972
F—HZwo <)—=—d—-ILR7« 20g 1,080 1,188
F—HZvI ZARY—=1)—=T 5« 30g 972 1,080
F—HZwy SRVHI—FT« 309 972 1,080
F—HZw o VT oT« 20g 972 1,080
F—#HZwvo Ly RoO—N\—F« 20g 972 1,080
F—HZv O LEVITAT« 309 756 864
F—HZwo LEYIN—LT« 30g 972 1,080
F—HZvo O—-kbv 75« 30g 972 1,080
F—AHZvo O—-XEVI T« 209 1,296 1,404
F—AZvo O—-X<)—FT« 30g 756 864
JLYRN—=TF54 S.0.5 80g 3,024 3,240
LY RN=TF14 NEXZX 80g 3,024 3,240
TJLORN=T T4 =LV T 80g 3,240 3,456
TJLORN=T 54 9=V ILER 80g 3,240 3,456
LY RN=TF 4 A=)LR>—ZX> 80g 3,240 3,456
JLYRN=T 714 Ea—FT17IAFx> 80g 3,240 3,456

%7LYRN=TF ¢ (80g) [FXRBERERR

A>F—Ea—F+« (=Rt A%
TS5V ARABRTIVTATTIR 300mL 5,616 5,724
dA—-A)ZRO—bF¥>To 45g 1,188 1,404

FIh-tyb (=Lt A%
770F VR ILOIVVIEY N 7,150 7,260
71 RO-X NV RIY=LFTH 3,300 3,410
N=1NIVRZR NYRIFy2aFTK 3,740 3,850
TONTA v I IvH— FT 6 5,500 5,940
7OY/INIA 7=V ANZ VR FT b 1,980 2,200
7OY/NIR VS0tE—2a> FT 6 1,980 2,200
VXUV IIE—A2 T FTk 4,840 5,060
JyRFANEO—IZRMNFTH 3,080 3,300
T7OYKML 9=V XNZ Ry b 3,300 3,520
MiarOY¥T«7a—%—tvy NWH 8,800 9,020

HRMENE (3T R THIAME TS




	☆通常店用20220415＿表面

